Решить примеры. 
1. Выполните деление:
а) 23,316 : (– 5,8) б) – 0,6 : (–[image: hello_html_m3e6c4a4a.gif])
в) – 24 : [image: hello_html_dc55160.gif]
2. Решите уравнение:
а) 1,7 x = – 14,11 б) [image: hello_html_21f46bb7.gif]y + [image: hello_html_mf4b4b71.gif] = [image: hello_html_40922449.gif]
3. Найдите значение выражения:
(63[image: hello_html_m2eabed19.gif] : (– 4,7) + 9,3) · (– 4[image: hello_html_10be525f.gif])

Вариант II
1. Выполните деление:
[bookmark: _GoBack]а) – 29,682 : 9,7 б) 0,8 : (–[image: hello_html_46c4689b.gif])
в) – 16 : (– [image: hello_html_m7121edac.gif])
2. Решите уравнение:
а) – 4,3 x = 14,62 б) [image: hello_html_m1e8cb62c.gif]y + [image: hello_html_7525f34.gif] = [image: hello_html_5a229364.gif]
3. Найдите значение выражения:
(– 48[image: hello_html_m41d41b3a.gif] : 3,9 + 8 [image: hello_html_10be525f.gif]) · (– 6,3)
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